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1.  Suppose you have just engaged in an option transaction with Joe Smith that obligates you to sell IBM stock to Joe.  What transaction have you just undertaken?  Be specific.











Use the following information to answer questions 2 through 4.





Executive Privilege Inc. currently has assets with a market value of $2,575,000 and is considering investing in a project that would cost $350,000 and which has a net present value of $25,000.  The standard deviation of returns on the firm’s existing assets is 34% and the standard deviation of returns on the project itself is 36%.  However, due to the low correlation between returns on the project and those of the firm’s existing assets, the standard deviation of returns on the entire firm after the project is undertaken will fall to 32.5%.  Executive Privilege will fund the project with $100,000 from surplus cash, with a debt issue that matures for $200,000 five years from today, and with a stock issue.  Before the project is undertaken, Executive Privilege has outstanding debt that matures for $2,100,000 five years from today.  The returns on Treasury Strips with the given maturities are as follows:  1-year=5.49%, 2-year=5.52%, 3-year=5.51%, 4-year=5.57%, 5-year=5.61%, 6-year=5.60%.  The yield to maturity on Executive’s existing bonds is 8.875%.  In order to determine what Executive Privilege’s equity will be worth if the project is undertaken, Executive Privilege plans to use the Black-Scholes Option pricing model (BSOPM).





2.  What would you enter for rf in the BSOPM to value the firm’s equity if the project is undertaken?











3.  What would you enter for V0 in the BSOPM to value the firm’s equity if the project is undertaken?











4.  What would you enter for s2 in the BSOPM to value the firm’s equity if the project is undertaken?











5.  Suppose you would like to sell five puts on Dell with a strike price of $67.50 and which expire in April.  Unfortunately, no puts are currently being traded with these characteristics.  What stock trade would you have to undertake as a part of the three transactions that would allow you to have the same terminal cash flows as selling five puts?  Be specific.











6.  Give two reasons we discussed in class that the board of directors may be ineffective in monitoring management for the stockholders.











7.  List two actions that a firm might undertake that would benefit stockholders at the expense of bondholders.











8.  List two ways (other than increasing interest rates to compensate them for it) that bondholders can protect themselves from actions by the firm that benefit stockholders at their expense.
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Use the following information to answer questions 9 and 10.





In order to turn itself around, Yeltsin Fires Inc. established an EVA bonus system in 1996.  For 1997, Yeltsin Fires Inc. set an EVA target of -$3,500,000 and had an actual EVA if -$4,250,000.  Yeltsin’s CEO has a target EVA bonus of $250,000 and had a bonus bank balance of $500,000 at the end of 1996.  Under their bonus system, one-half of the bonus bank balance is paid out each year.  In addition, one-fourth of the current year’s bonus is paid out while the rest of the balance is put into the bonus bank.  Under the system,  the EVA leverage factor for Yeltsin’s CEO is $2,000,000.  





9.  What was the actual EVA bonus payment to Yeltsin’s CEO in 1997?











10.  If Yeltsin uses Harnishfeger self adjusting target and Yeltsin’s EVA is the same in 1998 as it is in 1997, will the bonus earned (not the actual bonus payment) for Yeltsin’s CEO in 1998 be higher or lower than the bonus earned in 1998?  Why?  (Note:  no calculations are needed).














